A o#HE R

=

(— % -#5% BmFEALL)

FRI0EE ARTEEYESR LU I —MBAIE

(BT /\EE #RA)

¥ & fi % £ 2,470,000 (Fi1k) 1BARBEVIET
=K il R B A% 2,220,000
SO LR 1.0028
=8 2,226,216
5 & # B M % £ 2,220,000 (Ft1k) VASE S 1Dk e
% AL & 89.9% AL E= AFL SR/ T EMIE
B
AHEES Z1E & =
1 (%) B Lz 2,190,000 | B %1 BB A4 K
2 7AF (#) 2,210,000 | B 1 PR A4 K
3 () BEEM EHL 2,220,000
4 (B AMIHE 2,450,000
5 BRER(K) 2,470,000
6 KEF T2 (%) 2,470,000
7 (#%) 7L R0 R
8
9
10
11
12
13
14
15
16
17
18
19
20
21

LREEEEIC1007DEIHA T HEEMEL-EEIRHE LOBLAAIHRAMEIETHS,

ARl (F4L) BEs- =15

SER30E10H25H (OK) F-Ril118500%>

I EXZFT 3k 302%E=E




